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A& 8197774t x 50,000=3,850,000, H{AB'> Y #Y39%t x 60,000=2,340,000,

#Bh£ 8194t X 50,000=950,000
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(1) #BEIRA
2R 9,830,000 9,650,000 9,405,000
BAZEREZNESE 2,650,000 2,600,000 2,526,000
Hix-BHEERMERE 7,140,000 7,000,000 6,840,000
BAAN-HALEZRARE 40,000, 50,000 39,000
BEIA 6,700,000 2,190,000 3,087,138
FRERTEENRA 990,000 1,070,000 1,128,167
FHEERBENA 400,000 1,000,000 610,000
FEEREENRA 10,000 20,000 14,334
EFEEE (LPM/LAMP) EEUIRA 5,200,000 0 1,084,637
EFE4E (SLPC) BEIRA 0 0 0
EXTvy—FILILMNEEIA 100,000 100,000 250,000
TOMBEE 0 0 0
ZEHEEEE 650,000 0 600,000
ZEB A& 650,000 0 600,000
ZH—REFHE 0 0 0
FETE IERREA B AN S D IREEE 0 0 0
HURA 0 0 507
ZEFE 0 0 507
R 0 0 0
BERAG 17,180,000 11,840,000 13,092,645
7,200,000 5,150,000 3,434,298
EX3 2,000,000 1,450,000 1,592,664
X8 600,000 1,100,000 551,629
EIE4E (LPM/LAMP) B £ % 4,100,000 1,000,000 289,605
ERREGSLPC)EXE 0 600,000 85,177
EXTv—FILILMNE £ 500,000 1,000,000 915,223
ZTOMEEE 0 0 0
EEHE 9,980,000 10,160,000 8,605,627
HWE5FL 6,250,000 6,250,000 5919,763
BIELE 750,000 750,000 656,948
2EH 70,000 70,000 48,246
WREREE 200,000 300,000 6,560)
BIEEWRE 120,000 120,000 121,122
aEEH 120,000 120,000 121,036
BR, KEHE 60,000 50,000 61,326
EHAGE 100,000 200,000 40,279
HERE 300,000 400,000 332,788
EBERE 500,000 500,000 501,600
R—LR—UERE 500,000 460,000 358,684
Y—= 20,000 20,000 20,856
XILF 30,000 50,000 28,490
G S 140,000 350,000 334,700
HE 20,000 20,000 53,229
FiRE 800,000 500,000 o *x IO FHEET (FEEHHAPC 3 4. HEDHEABERBLLE)
BEXHE 17,180,000 15,310,000 12,039,925
LY EREE 0| A 3,470,000 1,052,720
2 BESMEROLH
(1) BEENMNRAEE 0 0 0
(2) BENZHEF 0 0 0
LR S MERAR 0 0 0
L — ARIEREAEE HEIRAE 0 A 3,470,000 1,052,720
—RERMEHEES 42,848,168 41,795,448 41,795,448
—RERMERRES 42,848,168 38,325,448 42,848,168
I BEEREROR
L HATEE R IR AR 0 0 0
IEEERMESEES 0 0 0
IEEERMERRES 0 0 0
I EGMEHKRER 42,848,168 38,325,448 42,848,168
IREFEFHNR(BE)
B A=#2624 x 10,000=2620,000, H4££ 864 % 5000=30,000




